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AABC OPERICE P %
/PBA = 12°, /PBC = 54°, /PCB = 30°, /PCA = 18°
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/CAB = /CBA =66° X b CA =CB
ABCP OAMWLb%E D 235k
DB = DP = DC, /BDP = 2/BCP =60° &b ABDP RIF=fAETH 3,
X-T, BP=CD
ZACD = 48° + 6° = 54° = /CBP
2 WHAAMHE LD APBC = ADCA
XoT, PC=AD ---@
/DAC = /PCB =30° &b /BAD = 66° — 30° = 36°

DC = DP, ZCDP =2/CBP =108° X b
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PB=PQ &b APBQ X -ZFU=AKTdHhH, APBQ= ADBC
AQBC 12 BQ = BC O “HU=AETH 3,

ZQBC = 54° — 6° = 48° = Z/ACB

FoT 200 F A=A ACB ¥ QBC Z&FRTH 3,
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& - T AABD & AB = AC, Z/BDE = 36° O 50 =AETH 3,
#7 AP 12 AABD rIE=f PBD ONFEITH %,

/PAD = %4BAD =18°

ZPAC = 30° + 18° = 48°




